0]

d
dsqrt{d

5} [pb,GeV ]

=
o
N

10°

=
o

Ratio to ATLAS

[EEY

0.5

000 GeV pp Z (Drell-Yan)
| I I I

_I I I T 171 | I I I I I T T | ]
% Splitting scale\/dﬁ2 (71<m <111 GeV) %
; @ - ’ !fﬂ = . ;
- sgpaaantiiin. :
_m
= o m =
— L -
- LY N
= “n. =
= " =
= \‘\'- - =
= L% -
L m ATLAS T -
= -.£-- Pythia 6.428 391 —
= - % Pythia 6.428 393 Seoom 3
— ---e-- Pythia 6.428 394 -
—— - v- Pythia 6.428 395 o —
| | | | 1 1 1 | | | | | I | | | ——
:I T T T T T T T T | T T T T T T T T | T :
= =
| “\ —
- LN =
L &= Q |
| .‘El\ v _
B Q«‘
E XY
\G N’«*.:* —
- SRR |
B : X |
¥,

- $8.x. —

1 | 1 1 1 1 1 1 1 1 | 1 1 \.\ID 1 1 1 1 1 |

1 10 0?

sqrt{ld_Z} [GeV]

Rivet 3.1.10, = 2.7M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


